
 Контрольная работа «Тригонометрические уравнения» 
 
 
 
 

Группа А (на «3») Группа В (на «4» и «5») 

 

1. 03sin3cos2 =−+ xx  

2. 24cos 4sin 1 0x x+ − =  

3. 02cos2sin 2 =+− xx  

4. 05cos5sin6 2 =+− xx  

5. 24sin 4cos 1 0x x− − =  

6. 02sin2cos2 =++ xx  

7. 23 sin 5cos 0x x− − =  

8. 22cos 3sin 0x x+ =  

9. 24 3 0tg x tgx− − =  

10. 28 3 5 0ctgx ctg x− − =  
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2. 23 sin 2 4cos 2 0x x+ − =  
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6. 43 =+ ctgxtgх  

7. ( ) 03312 =++− tgxxtg  
8. 023cos56cos =−− xx  
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10. 02sin34cos2 =+− xx  
 

 
 

Тип:   Уравнения, приводимые к квадратным 


